
(a) Lag = −48 h (N = 13) (b) Lag = −36 h (N = 13) (c) Lag = −24 h (N = 14) (d) Lag = −12 h (N = 14) 

(e) Lag = 0 h (N = 14) (f) Lag = 12 h (N = 13) (g) Lag = 24 h (N = 13) (h) Lag = 36 h (N = 12) 

24 27 30 33 36 39 42 45 

300-hPa wind speed (m s−1) 
Mean AC location 

SLP (hPa) 1000–500-hPa 
thickness (dam) 

Fig. 1 (method 1) 



(a) Lag = −48 h (N = 13) (b) Lag = −36 h (N = 13) (c) Lag = −24 h (N = 14) (d) Lag = −12 h (N = 14) 

(e) Lag = 0 h (N = 14) (f) Lag = 12 h (N = 13) (g) Lag = 24 h (N = 13) (h) Lag = 36 h (N = 12) 

18 21 24 27 30 33 36 39 

300-hPa wind speed (m s−1) 
Mean AC location 

SLP (hPa) 1000–500-hPa 
thickness (dam) 

Fig. 1 (method 2) 



(a) Lag = −48 h (N = 13) (b) Lag = −36 h (N = 13) (c) Lag = −24 h (N = 14) (d) Lag = −12 h (N = 14) 

(e) Lag = 0 h (N = 14) (f) Lag = 12 h (N = 13) (g) Lag = 24 h (N = 13) (h) Lag = 36 h (N = 12) 

Mean AC location 

700-hPa geopotential  
height (dam) IVT (kg m−1 s−1) 

Integrated vapor transport (IVT) (kg m−1 s−1) 

150 200 225 250 300 350 400 450 175 500 550 

Fig. 2 (method 1) 



(a) Lag = −48 h (N = 13) (b) Lag = −36 h (N = 13) (c) Lag = −24 h (N = 14) (d) Lag = −12 h (N = 14) 

(e) Lag = 0 h (N = 14) (f) Lag = 12 h (N = 13) (g) Lag = 24 h (N = 13) (h) Lag = 36 h (N = 12) 

Mean AC location 

700-hPa geopotential  
height (dam) IVT (kg m−1 s−1) 

Integrated vapor transport (IVT) (kg m−1 s−1) 

100 150 175 200 250 300 350 400 125 450 500 

Fig. 2 (method 2) 



(a) Lag = −48 h (N = 13) (b) Lag = −36 h (N = 13) (c) Lag = −24 h (N = 14) (d) Lag = −12 h (N = 14) 

(e) Lag = 0 h (N = 14) (f) Lag = 12 h (N = 13) (g) Lag = 24 h (N = 13) (h) Lag = 36 h (N = 12) 

Mean AC location 

SLP (hPa) 

850–600-hPa Eady growth rate (day−1) 

0.6 0.7 0.8 0.9 1.0 1.2 1.4 1.6 

Fig. 3 (method 1) 



(a) Lag = −48 h (N = 13) (b) Lag = −36 h (N = 13) (c) Lag = −24 h (N = 14) (d) Lag = −12 h (N = 14) 

(e) Lag = 0 h (N = 14) (f) Lag = 12 h (N = 13) (g) Lag = 24 h (N = 13) (h) Lag = 36 h (N = 12) 

Mean AC location 

SLP (hPa) 

850–600-hPa Eady growth rate (day−1) 

0.4 0.5 0.6 0.7 0.8 1.0 1.2 1.4 

Fig. 3 (method 2) 


